Pi0 Mass in MeV
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Currently calibrating to obtain 4 sets of gain constants corresponding to the newly split Batches.



Batches

4+5+6

Run Range

71592 - 71727 (350 nA)

71728 -71855 (350 nA)

71863 - 72163 (350 nA)

72164 - 72435 (350 nA)

Total Triggers

25 e9

29.6 €9

76.6 €9

46.3 e9

Remarks

There is a observable
slope and stopped the
incident in the BCAL

There is a significant
slope during these runs

Runs from 72317-72325
are excluded due to
Intensity scan, diamond
and amorphous, 50 - 100
nA
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New calibrations

= Fit line slope = -1.597767443747034e-07, Intercept = 0.13534947735463307

@ Batch2runs

@ Batch3 runs

® Batch4+5+6 runs
® Batch7+8 runs

71600

71800

72000
Run Number

72200

72400



Sigma/Mu of pi0 mass distribution for each runs
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Pi0 Mass in MeV (after correction)
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